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B4 x-6=(x-1D(x+2)(x+3)
La+b+c=4
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@ (x=y)?-wy(y-x) = (x=y)(x—y+xy)

@ 3a% -27b%* = 3(a + 3b)(a - 3b)

@64a3 —125 = (4a + 5)(16a% - 20a + 25)

@D (2-x) (2—x+1)=6=(2-x+3)(x+1)(x-2)

® 2x2-5x+3=(x—1)(2x-3)

64a’ — 125
= (4a)’ - (5)°
= (4a - 5) (164> + 20a + 25)




[+ y)" 4+ (x=y)" 2= [(x+y)" = (x=y)"]> =4 x 3"
@3 @ 4 ® 6 @ 7 ® 9
B

[ +3)" + (x =) = [(x + )" = (x = y)"]?

=4x3"
H(x+y)(x-y)P = 4x3"
4(x? —y2) =4x3"
Lox2-y?=3
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x = 21°]2} s}
V21-22-23-24 +1

= Vx(x+1)(x+2)(x+3)+1
= Vx(x+3)x+1)(x+2)+1
= /(2 +3x)(x2+3x+2)+1

= /(32 +3x)2+2(x2+3x)+1

= /{(x®> +3x) + 1}2
=x2+3x+1(- (x> +3x)+1>0)
=212+3-21+1=505

7242 229 4254 0+5=10




xy(x —y) +yz(y — 2) + zx(z — x) = IFESfoA?

G?—@—W@—@@—@ @ ~(x+y)(y-2)(z-x)
@ ~(x=y)+2)(z-x) @ —(x-y)(y-2)(z+x)
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Z )= xy(x - y)—I—zx(z x) +yz(y — 2)
yx% = y2x + 22x — 2x® + yz(y - 2)
-2 -0 -2)x+yz2y - 2)

G- -0+ -)x+yz(y - 2)
- - +2)x+yz)
O-2)(x-y)(x-2)
~(x=-y)y-2)(z-x)
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